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Quiz 6 (20 points)

1.  (7 points) If you want to calculate how much energy is absorbed by a bar of iron when it has been kept in a fireplace with a blazing log fire which of the following information is needed:
	
	Needed
	Not needed

	a. the initial temperature of the iron before it wing into the fire
	
	

	b. the length of time it is in the fire
	
	

	c. the final temperature of the iron
	
	

	d. the mass of the iron bar
	
	

	e. the volume of the iron bar
	
	

	f. the temperature of the burning material
	
	

	g. the specific heat of the iron
	
	


2. (3 points) What term do we use to describe a reaction that absorbs heat from its surroundings?  
3. (10 points) The addition of 250 J to 30.0 g of copper initially at 22oC will change its temperature to what final value?  (The specific heat of copper is 0.385 J/g K.)









